20118 =20& ==X0l= &X

At2l = X ot
Co=2XEX(AS =X/ 0l - H
LelgX0is N (=e=X012)
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SN EE - ER(EN) - NRAY - BaS e HlRE2
St 851,587 901,652 A50,065
SIS (M =R/ =0l - HAE) 216,087 194,169 21,918
Lo=EX0I8 NA(Le=X013) 185,087 92,087 63,000

Loluws 29 60,000 0 60,000

307 212t01& 60,000 0 60,000
10 At3I=2 X2 X 60,000 0 60,000
OTMEE LA 2l XA (50H4)
50,000,000& 50,000
omMatEWA HOlS+LY N
10,000, 000& 10,000
Lolsl XA 95,087 92,087 3,000
307 QI2t0I A 92,087 92,087 0
03 AtRIEHIELS 92,087 92,087 0
Okl 29l XN& 30,704,000& 30,704
OLMI=EXAE 28 K& 46,983,000& 46,983
OkQls SHs 2 =4l &
50,0003 14E «12& 8,400
O3 Xsl&E =4l K&  500,000&«12& 6,000
402 2I2HX=01 & 3,000 0 3,000
01 BIZPGEEX 3,000 0 3,000
oY ZzHE ¢ 1,700,000& = 1CH 1,700
oY ZZAME A FY 1,300, 000& = 1CH 1,300
LolAZAR DR XN (L=X012) 61,000 102,082 A41,082
colAzaedlP XN 61,000 102,082 A41,082
201 et 6,000 4,082 1,918
01 AtS 22l 3,000 0 3,000
OZsY HIEZ7Y 100,000 *307H & 3,000
02 =234l 3,000 4,082 A 1,082
okelazdae|d+ sAl2el
100, 000& *3074 2~ 3,000
405 XtobE SHI 55,000 98,000 A43,000
01 T =SS H SHI 55,000 98,000 243,000
okelazdaedl+ & 3,500,000 1090 & 35,000
OoZze &0 uwH 1,000,000& *109H 2~ 10,000
OZZ2Y TVuXA 500,000 * 1020 2 +2CH 10,000
HRas (M SXDH) (AEISX/ =0l - AU 635,500 707,483 AT71,983
BEXE(L=XI12) 635,500 707,483 AT71,983
28X = 635,500 707,483 AT71,983
602 Gl Xl= 635,500 707,483 AT71,983
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